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1. 40 x43 =40x( + )
= 40 x + 40 x

2. 34x5£=34x( + )
17

= 34 x + 34 x

1 5
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3. 34 x (17 13)

4, 5 x (X+3) =
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5. =4 x (X+2) =

= RO BetER
1. 79 x 63 + 79 x37
= 79 x ( + )

2. 98 x 137 — 98 x 37
= 98 x ( — )

3. —9%4 x 37 + 94 x 137
= 94 x ( )

4, —94 x 37 + 94 x 137
= —94 x ( )

5. 86 x 43 + 86 x 75 — 86 x18
= 86 x ( )

6. 57T x79 + 43 x 21 + 57T x21 + 43 x 79

7. 97 x 53 + 43 x 47 + 54 x 47

8. 57T x 76 — 43 x 86 — 57 x 26 + 43 x 36

9. 4 xXxY + 6xX

= x ( + )
% haERERE AR [ EERE]
10, 5xXxX — X

= x ( — )

11. 12963 x 381 + 2963 x 619

12. &1 967 x 453 = 438051
Al 967 x 1453 =

13. Tl a x 1963 = 4789
A 1963 x (at+10 ) =

14. B4l a x 19 = 714
Al (a—6)x95=

15. EX41 m=1959x889 » n=1958x890
Al m > n B—SgoR ?

cx(a+b)=cxa+cxb
(a+b)xc=axc+bhxc
c+(a+b)=c+a+c+b DA

(a+b)+c=a+c+b=c



